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Question 1

Write as a single fraction in its simplest form.

s 3

x-3 xt+7

+

N [—

4] 3 1 52(e4T)43-2-(2—3)+(2—3)-(24T)
=3tz T2 = 3 (@—3) (1)

Now, simplify the numerator:

10(z + 7) + 6(z — 3) + (z* — 3z 4 Tz — 21)
= 10z + 70 + 6z — 18 + z% + 4z — 21

= z? + 20z + 31

So, the combined fraction is:

=2 4202431
2:{2—3)-(z+T7)

This expression is in its simplest form.

Question 2

Write as a single fraction in its simplest form.
xt+1_ y-1 [3]

x y

2+1  y-l _ (a+ly—(y-1)=
T v o Ty

Now, simplify the numerator:
(z+1)y—(y—1)=
=zy+ty—yr+c

=z+y

So, the combined fraction is:

iy
zy

This expression is in its simplest form.
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Question 3

Write as a single fraction in its simplest form.

2 3 [3]
(a) —’;2_;

== 3; , factor both the numerator and the denominator:

To simplify the given expression =

=8z __ x(z-3)
ai=9 7 (z-3)(w+3)
Now, cancel out the common factor (z — 3) in the numerator and denominator:
z(z—3)
(z—3)(z+3) — =43
So, the simplified form of £ s —Z-.
3 2

® Zrnes

1. Find a common denominator, which is the product of the denominators (z — 4) and (2 + 5) :(z — 4)(2z + 5).
2. Express each fraction with this common denominator:

3, 2x45 1 2, =z—4 [3]
z—4  2x+5 2x+5 x4
This simplifies to:

3(2x45) 2(x—41)

(z—4)(22+5) + (z—4)(2z+5)
1. Combine the numerators over the common denominator:

6z415+2x—8
(m—4) (224 5)

1. Combine like terms in the numerator:

w47
e—1)(22+5)
So, the sum 27 + 52+ as a single fraction in its simplest form is —%tT .

Question 4
Simplify. Byt 208 2]

zly+2ryt _ wy(2+2%)

x2y? - 2y
Now, cancel the common factor zy from the numerator and denominator:
zy(z®4+24%) 2 424

oy = =

. . 3 2 i, 49

So, the simplified form of - s = ;’yyz .
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Question 5

Write as a single fraction.
1-

3
> 2]

SN

To write the expression 1 — % - % as a single fraction, find a common denominator, which is pt.

Now, express each term with this common denominator:

Combine the numerators over the common denominator:

pt—2i—3p
pi
So, the expression 1 — 2 — 3 written as a single fraction is £ ]2; 3p
Question 6
Simplify. np-Tn
12pt =2t +18mp - 3m [4]
A2np—Tn

factor out the common factor in the numerator and denominator.

To simplify the expression oo S TEmp 3

Factor out Tn from the numerator:

Tn(6p — 1)

Factor out 2t — 3m from the denominator:

(2t —3m)(6p — 1)

Now, cancel the common factor (6p — 1) from the numerator and denominator:

i
2t—3m

42np—Tn
12pt—2t+18mp—3m

n
—3m "

So, the simplified form of

IS%

For more help, please visit our website www.exampaperspractice.co.uk
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Question 7

Simplify.
4 +10w
8 - 50uw?

4410w
a—50w*? ?

To simplify the expression
4 4+ 10w = 2(2 + bw)

8 — 50w? = 2 (4 — 25w?)
Now, rewrite the fraction with the factored forms:

2(24-5w)
2(4— 25w
Cancel the common factor of 2 in the numerator and denominator:
245w
4—25u?
. - A+10w +. 245w
So, the simplified form of =75 is ;=275 .

Question 8

Write as a single fraction in its simplest form.
t+2
Cor-1

t+2

factor both the numerator and the denominator:

(4]

(3]

Page 4

To write the expression 3 — {5 as a single fraction in its simplest form, find a common denominator, which is (t — 1).

Now, express each term with this common denominator:

o2 B(-1)  #42
t—1 -1 —1
Combine the numerators over the common denominator:
3(t—1)—(t+2

i—1
Now, distribute 3 in the numerator:

3t-3-¢2
-1
Combine like terms in the numerator:
2t-5
1
So, the expression 3 — £2 written as a single fraction in its simplest form is 2=2.

For more help, please visit our website www.exampaperspractice.co.uk
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Question 9
Write as a single fraction, in its simplest form.

1-x 24X

X
|
—_
|
)
X
=

(1—)(1—2a) (24-x)x
#(1-2z) =(1-22)

Combine the numerators:

(1—z)(1-2z)—(2+4=)a
m(1—2z)

Now, distribute and simplify the numerator:
(1-2z —z+ 22%) — (22 +2?)

Combine like terms in the numerator:

1 -2 —z+ 22? — 22 — 22

Combine like terms:

2z? — 6z + 1

So, the combined fraction is:

2 Baztl
z(1-2x)

This expression is in its simplest form.
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Question 10

1 2
(a) Write — —— as a single fraction in its lowest terms. [2]
X

y

To write % — % as a single fraction in its lowest terms, find a common denominator. In this case, the common denominator is xy.

Now, express each fraction with this common denominator:

=z 2
zy Ty
Combine the numerators:
z—2y
ay
So, L — 2 as a single fraction in its lowest terms is —E
2
(b) Write in its lowest terms. [3]
3x+3
. 1
To simplify the fraction ; i': factor out the common factor in the numerator: %{%

Now, cancel out the common factor z + 1 in the numerator and denominator: 3

So, the simplified form of £ +§ is 5.

0B

Question 11

Write as a single fraction in its simplest form

x x-1

3 2

(2]

To write the expression % le as a single fraction in its simplest form, find a common denominator, which is the product of 3 and 2, i.e., 6.
Now, express each fraction with this common denominator:

z 2, z=1 3 _ 2w ‘4(% 1)

32tz 3 =%t

Combine the numera.tors over the common denominator:

2a+43(z—1)
6

Distribute and simplify the numerator:

2z43x—3 __ bx—3
B - [

So, the expression § + "—21 as a single fraction in its simplest form is

5x—3
-
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Question 12

Write as a single fraction in its simplest form

4 [3]

2x+3

_ 2
X—

3

To write the expression ﬁ — mz = as a single fraction in its simplest form, find a common denominator, which is (2z + 3)(z — 3).

Now, express each fraction with this common denominator:
4 x—3 2 2243

243 xz—3 x—3 2x+3
Combine the numerators over the common denominator:
A(w—3)—2(2z+3)

(@7+3)(z—3)
Distribute and simplify the numerator:
dp—12 dw§ —18

(2z+3)(=—3) — (2z+3)(z—3)
So, the expression Tﬁ-a — ﬁ as a single fraction in its simplest form is m.

Question 13

x 5x 5x

2,6 4 Bz, 2 05w L
3°6 1T 9 "2 18 " 1
Combine the numerators over the common denominator:
B 10x—5z
18

Combine like terms in the numerator:

11x

18

i ' € | 5z 5z jo llz
So, the simplified form of % + 5= — 3% is &

For more help, please visit our website www.exampaperspractice.co.uk



F e

EXAM PAPERS PRACTICE

Question 14
Write as a fraction in its simplest form

x-3, 4
4 x-3 [3]

x—3)? '
51[9:—:}3} + 4{;:233

Combine the numerators over the common denominator:

(x—3)2+16
4(x—3)

Now, expand and simplify the numerator:

2 —Bx+94+16 __ z*—62425
4(z—3) 4(x—3)

. _ . e e . gl
So, the expression 22 + —1_ as a single fraction in its simplest form is £ 52125 7 (:f;fE .

4 r—3

Question 15

Write as a single fraction in its simplest form

5 4 [2]

Bz+1) 4z
z(z+1)  z(z+1)

Combine the numerators over the common denominator:
5(z+1)—4x

a(z+1
Now, distribute and simplify the numerator:

Srth—4x
z(z+1)

Combine like terms in the numerator:

% )
w(m+1)

S0, the expression % — Hi-l as a single fraction in its simplest form is m(”“;‘r’l} .

For more help, please visit our website www.exampaperspractice.co.uk
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Question 16

X+2 X

X x+2°

Simplify Write your answer as a fraction in its simplest form.

: B : z42 &
To simplify the expression £-= — —&,

Now, express each fraction with this common denominator:
(z+2)2 22

z(z+2) z(z+2)
Combine the numerators over the common denominator:

(z+2)*—2?
@(2+2)

Now, expand and simplify the numerator:

22t dw+d—a?

find a common denominator. In this case, the common denominator is z(z + 2).

(2

Combine like terms in the numerator:

dr+4

2(z-+2)
Factor out the common factor in the numerator:

4(z+1)

@(z+2
So, the simplified form of ££2 — £ js &L

Question 17
. 3_2 . N ==
14 (a) Write —— 1 as a single fraction in its simplest form.
X X

To write the expression % — mil as a single fraction in its simplest form, find a common denominator. In this case, the common denominator is z(z + 1).
Now, express each fraction with this common denominator:
3(at1) 2a [3]

z(z+1) z{z+1)
Combine the numerators over the common denominator:

3(z+1)—2z
z(z+1

Now, distribute and simplify the numerator:

Ja 3—2x
a(z+1)
Combine like terms in the numerator:
z+3
a(z+1)
. 3 _2 . . P . . 43
So, the expression = — — T as asingle fraction in its simplest form is PR

3 2
(b) Solve theequation - =0.
x x+1
To solve the equation 2 — 2+ =0, follow these steps:

1. Find a common denominator, which is z(z + 1).
2. Express each fraction with this common denominator:

3(a+1)  2p  _ 3(z+1)—2a
z(z+1) z(z+1) —  xfz+1)
1. Combine the numerators: [1]
Je+3—22 w43
z(z+l) — z(z+l)

1. Set the numerator equal to zero:

c+3=0

1. Solve for = :

r=-3

So, the solution to the equatio % — xil =0isxz=—3.

For more help, please visit our website www.exampaperspractice.co.uk
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Question 18

Work out as a single fraction

2 1
— . 3
x—3 x+4 [3]
To work out the expression m2T3 - ﬁ as a single fraction, find a common denominator. In this case, the common denominator is (z — 3)(z + 4).
Now, express each fraction with this common denominator:
2(z+4) 1(x—3)
(w—3)(z+4)  (z-3)(x+4)
Combine the numerators over the common denominator:
2 z+4)—(z—3)
(z—3)(@+4)
Now, distribute and simplify the numerator:
2z+8—x+3
(a—3) (2 +4)
Combine like terms in the numerator:
a+11
(& 3) (2 14)
So, the expression ﬁ — :r.+-4 as a single fraction is %.
Question 19
[2]

Write  2x— g as a single fraction.
—x

To write the expression 2z — % as a single fraction, find a common denominator, which is(5 — z).

Now, express each term with this common denominator:

zzlﬁw W0z &5

bz bz B
Combine the numerators over the common denominator:
2¢(5—z)—10z-5
5—x
Distribute and simplify the numerator:
10z —222—50x
b—x
Combine like terms in the numerator:
2z —40z
b—ax
Factor out a common factor of — 2z :
—2a(x+20)
S—x
. 10 . . . —2z(x+20)
So, the expression 2z — =" as a single fraction is ———.

For more help, please visit our website www.exampaperspractice.co.uk
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Question 20

Write as a single fraction in its simplest form.

x+3 x-1 [4]
x- 3 x+1

To write the expression 213 — -1 as a single fraction in its simplest form, find a common denominator, which is (z — 3)(z + 1).
Now, express each fraction with this common denominator:

(z+8)(z+1)  (z—-1){=—3)

(x—3)(z+1) (z—3)(m+1)

Combine the numerators over the common denominator:

(@+3)(z+1)—(z—1)(z—3)
(z—3)(z+1)

Now, distribute and simplify the numerator:
2 +4z+3— (2?—da+3)

(2—3)(z+1)
Combine like terms in the numerator:

2’ A+ 3—a+dz—3
(@—3)(zt1

Combine like terms:

8z
Ta8)@t1)

So, the expression <43 — jﬂ as a single fraction in its simplest form is T_ﬂ_”—:zf- 0

Question 21

Write the following as a single fraction in its simplest form. [3]

X+ 2 2x—1+

3 4

1

To combine the given expression £% 2 % + 1 into a single fraction, find a common denominator. In this case, the common denominator is 12 (the least common multiple of 3 and 4 ).

Now, express each term with this common denominator:

(z42)4  [(22-1)3
74 43 1

Combine the numerators over the common denominator:
4(z+z)zg(2171) 41
Distribute and simplify the numerator:
4486243
TR + 1
Combine like terms in the numerator:
2.;; 20 u g
To add the fraction and the whole number, express 1 as a fraction with the common denominator 12 :
2e411 4 12
12 12
Combine the fractions:

22411412
12

Combine like terms in the numerator:
2123
12
So, the expression

242 _ 222l 4 ] a5 a single fraction in its simplest form is 25528

For more help, please visit our website www.exampaperspractice.co.uk
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Question 22

Simplify the following.
ht=h=-20

4
hl-25 4]

To simplify the expression w, factor both the numerator and the denominator:

hi—25
(h—5)(h+4
(h—5)(h+5
Now, cancel out the common factor (h — 5) in the numerator and denominator:
hitd
h+5

: . h?—h—20 :_ htd
So, the simplified form of 5= is 45+

Question 23

Simplify fully.
x2=x-20

- & | 5
3 —10x2+25x 5]

To simplify the expression %, factor both the numerator and the denominator:
(2 5)(z+4
#(z—5)(z—5)
Now, cancel out the common factor (z — 5) in the numerator and denominator:
x4
z(z—5)
. . 2_ o .
So, the simplified form of —£-5-2— is mf:r—ésj :

For more help, please visit our website www.exampaperspractice.co.uk
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Question 24

Write as a single fraction in its simplest form.

3 |
- (3]
x+10 x+4
To write the expression ﬁ — m—}r‘L as a single fraction in its simplest form, find a common denominator, which is (z + 10)(z + 4).
Now, express each fraction with this common denominator:
3(a+4) 1(x+10)
(x+10)(z+4)  (2+10)(x+4)
Combine the numerators over the common denominator:
3(w-+4)— (z+10)
(z+10)(z=+4
Distribute and simplify the numerator:
3z412—x—10
(z+10)(x+4)
Combine like terms in the numerator:
2x42
(z+10)(2+4)
Factor out the common factor in the numerator:
2(x+1)
(z+10)(m+4)
So, the expression ﬁ - I—Li as a single fraction in its simplest form is ﬁ%.
Question 25
15 Write the following as a single fraction in its simplest form.
X+ X
T [4]

X+5 X+1

To write the expression :“é — 21 as a single fraction in its simplest form, find a common denominator, which is (z + 5)(z + 1).
Now, express each fraction with this common denominator:

(=41)>  =(a45)
(xe45)(z+1) (z45)(z+1)

Combine the numerators over the common denominator:
(:z:+1}2—::f:z:+5)

(w+5)(z+1)
Now, distribute and simplify the numerator:

22420412l 5p
(z+5)(x+1

Combine like terms in the numerator:
—3z+1

(e +5)(zr1)

So, the expression —dz+l

(z+5)(=+1) *

x4l &

z+5 z+1

as a single fraction in its simplest form is

For more help, please visit our website www.exampaperspractice.co.uk
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Question 26

+
X=-2 x+2

Write as a single fraction.

Give your answer in its simplest form. [3]

To combine the fractions ﬁ + mi-i-E into a single fraction, find a common denominator, which is(z — 2)(z + 2).

Now, express each fraction with this common denominator:
Aat2) | 8(e—2)
@ 2)(2d2) | [z 2)(at2)
Combine the numerators over the common denominator:
2(x+2)+3(x—2)
(@—2)(@+2)
Distribute and simplify the numerator:

2x+4+4+3x—6
(—2)(x-+2)

Combine like terms in the numerator:

Sx—23
T 2(@+2)
2 3 Sz—2

So, the expression =5 + 35 as a single fraction in its simplest form is IR

Question 27
Write as a single fraction in its simplest form.

2

+ 1y
X 2X

(2]

N | =

2 1 1 _ 22 1 ®
T 2 2 7 2 + 2ur + 2w

Now, combine the numerators over the common denominator:
414w =45

2 2z

So, % + ﬁ + % can be written as a single fraction in its simplest form as “’Z—LE

40

For more help, please visit our website www.exampaperspractice.co.uk
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Question 28

Simplify this fraction.

x2-5x+6 [4]
x2-4

To simplify the given fraction

"’2#@;6, you can factor both the numerator and the denominator, and then cancel out common factors.

e
First, factor the numerator and denominator:
Numerator: z? — 5z + 6 factors as (z — 2)(z — 3).
Denominator: 22 — 4 factors as (= —2)(z+2).

Now, rewrite the fraction with the factored forms:

(w—2){z—3)

(=—2)(z+2)

Cancel out the common factor (z — 2) from the numerator and denominator:
(z—2){(2—3)

(z—2)(z+2)

The simplified fraction is:

x—3
z+2

2

2 —5x+6
So, £

r—3

simplifies to 4.

Question 29
Write as a single fraction, in its simplest form.

3 —

2 (3]
X+2 x—1

3 3 3fz-1) 2-{242)
+2  z—1 = (z+2)(w-1)  (z+2)(z—1)

Now, combine the numerators over the common denominator:
3(z—1)-2(z+2)

{42} (=—1)
Distribute and simplify the numerator:
3r—3—2z—4 __ T—T
(z+2)(z-1) — (z+2){z-1)

S0, ;_-T-z - x—El can be written as a single fraction in its simplest form as {Téﬁ

For more help, please visit our website www.exampaperspractice.co.uk
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Question 30
Write as a single fraction in its simplest form.
3 x+1
201 _ _2 _ (2z-1)(x41) = 2.3
3 a+1 T 3(x+1) 3{a+1)
Now, combine the numerators over the common denominator:
(2z—1)(m+1)—2-3
3-(x+1)
Expand and simplify the numerator:
2e*42r—g—1-6 _ 2zi4x—T
3-(m+1) = T3 (z+l)
2z—1 2 . . e 9 2T
So, #5= — 47 can be written as a single fraction in its simplest form as St
Question 31
Simplify. 2. 16 (4]

x2- 3x- 4

Page 16

To simplify the given fraction m.f: ;;_6 7> You can factor the numerator and denominator, and then cancel out common factors.

First, factor the numerator and denominator:

Numerator: z2 — 16 factors as (z + 4)(z — 4).

Denominator: % — 32 — 4 factors as (z — 4)(z + 1).

Now, rewrite the fraction with the factored forms:

(z+4)(z—4)

(e D) (=+1)

Cancel out the common factor (2 — 4) from the numerator and denominator:

(z+4)(z—4)
(e—4)(=F1)

The simplified fraction is:

z—4
z+1

4

z2—16 3 fi T—
So, i, 7 simplifies to T35

For more help, please visit our website www.exampaperspractice.co.uk
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Question 32

Write as a single fraction in its simplest form.

x+2 2x-5

3 4 __ 3(2z2-5) A(z+2)
z+2 225 — (2+2)(22-5)  (2+2)(2z-5)

Now, combine the numerators over the common denominator:

3(2z—5)—4(=+2)

{2+2)(22—5)
Distribute and simplify the numerator:
Gr—16—4x—8§ 2x—23

(z+2)(22-5)  (z+2)(22-35)

So, =%~ — —%_ can be written as a single fraction in its simplest form as

=+2 25

For more help, please visit our website www.exampaperspractice.co.uk
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Question 33

(a) Write as a single fraction in its simplest form.

31
-1 x+2 [3]

3 1 _ 3(x+2) (22—1)

2z—1 z+2 — (Re-1)(z+2)  (2z-1)(z+2)
Now, combine the numerators over the common denominator:
3(z+2)—(2z—1)
(2z—1)(=+2)
Distribute and simplify the numerator:

3z+6—2x4+1 o47
(2a—1)(z+2) — (2z-1)(2+2)

So, % - m—iz can be written as a single fraction in its simplest form as QT?(P;W
(b) Simplify.
4x2-16x
2x2+ 6x- 56 41
4216z

To simplify the given fraction Te1760 5 You can first factor the numerator and denominator and then cancel out common factors.
Factor the numerator and denominator:

Numerator: 422 — 16z factors as 4z(z — 4).

Denominator: 2z + 6z — 56 factors as 2(z — 4)(z + 7).

Now, rewrite the fraction with the factored forms:
dx(z—4)

At

Cancel out the common factor (z — 4) from the numerator and denominator:
4z(z—4)

2(e—4)[@+7)

Simplify further:
da

2(z+T)

Now, simplify the fraction by dividing both the numerator and denominator by 2 :

2x
z+T

da? 162 _: : 2
So, 3, T simplifies to 7.

For more help, please visit our website www.exampaperspractice.co.uk
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Question 34

Write as a single fraction, in its simplest form.

3 2
2x+ 3-|r3+2x

3 2z __ 33 2x-2x 32m 2z-Gx
2wt 3 t3+2e= + 55 Ta t

2-3x 1-6x
Now, combine the numerators over the common denominator:
9+4x246x+1222
[
Combine like terms in the numerator:
162% + 62+
Ga:

Factor the numerator if possible:

(4z+3)(4z+3)

G

Now, simplify the fraction by canceling common factors in the numerator and denominator:

(4z+3)
2

So, % + 2% + 3 + 2z can be written as a single fraction in its simplest form as %.

Question 35

Write as a single fraction in its simplest form.

2 2
X x+1 (3]

2 2 2(z4l) 2a
T z+1 oz (z+l) - (x+1)
Combine the numerators over the common denominator:
2(z+1)—2z

z-(z+1)
Distribute and simplify the numerator:
2r+2-2x

a-(z+1)
Combine like terms in the numerator:
2

z-(z+1

So, % — wrfl can be written as a single fraction in its simplest form as
O

2
z-(z+1)

For more help, please visit our website www.exampaperspractice.co.uk
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Question 36

Solve the equation.

3
2x  x+1

— Sletl) 1.22

341
2z z+1 7 2am(241) (w+1)-22
Combine the numerators over the common denominator:

3(z+1)+2z
2a-(x+1)

Distribute and simplify the numerator:

324342z
2z-(z+1)

Combine like terms in the numerator:

5z+3
2z-(@+1)

Now, set the numerator equal to zero and solve for z :
bx+3=0

Subtract 3 from both sides:

52 = -3

Divide by 5:

»— 3
T="%

So, the solution to the equation % ar ﬁ =0isz = —%.

Question 37

19 Simplify.

x2+6x-7 [4]
3x+21

To simplify the given fraction m;ff_;f . you can factor the numerator and look for common factors in the numerator and denominator:

Factor the numerator:
22+ 6z —T=(z+7)(z—1)
Now, rewrite the fraction with the factored numerator:
(z+T) (=1
dz421
Now, check for common factors. Both the numerator and denominator have a common factor of 7:
T(a+7)(z—1)
T(3013)
Cancel out the common factor:
(=47} {z—1)
3e+43
Now, simplify further by factoring out a common factor of 3 in the denominator:
[24+T){2—1)
3(2+1)

(z+7)(=—1)

So, atBz—T simplifies to 3(z+1)

32421

For more help, please visit our website www.exampaperspractice.co.uk
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Question 38
(a) Factorise x>+ x—30. [2]

To factorize the quadratic expression 2% + 2 — 30, we are looking for two numbers whose product is the product of the coefficient of z* term (1) and the constant term (~30) and whose sum is the coefficient of the z term (1).
The numbers that satisfy these conditions are 6 and -5 because 6 x (5) = -30 and 6+ (=5) = 1.
Now, split the z term using these numbers:

2 +5-30=2"+62-52-30

Now, group the terms:

2+ 62 - 52 - 30 = (s + 62) + (~5z - 30)

Factor out the common factor from each group:

a(z +6) - 5(z +6)

Now, factor out the common factor of (2 + 6) :

(+6)(z-5)

So, the factotization of a” + 2 — 30 is (& +6) (2 - 5).

[1]
. (x- S)(x+4)
(z—5)(z+4)

To simplify the expression ~57=%, you can use the factorization of the quadratic denominatorz® + z — 30 obtained in the previous response, which is (z + 6)(z — 5).

Now, substitute this factorization into the expression:
(z5)etd) _ (c5)=td)

2 +z—30 (z+6)(z—5)
Now, cancel out the common factor (z — 5) in the numerator and denominator:
(2—5)(2+4)
(x+6)(2—5)
The simplified expression is:
z+4
z+6

(@—5)(z+4)

Sa, attz—30

simplifies to 2—1@.

Question 39 [3]

22 Write as a single fraction in its simplest form.

2 .3

x+3 x+2

9 + 3 2(x42) 3-(x+3)
z+3 z+2  (z+3)(z+2) (z43)(z+2)
Combine the numerators over the common denominator:
2(z+2)+3(z+3)
{z4+3)(z+2)
Distribute and simplify the numerator:

2o+44+3249
(z+3)(2+2)

Combine like terms in the numerator:

5x+13
(2+3){z+2)

ax+13

S0, ﬁ + % can be written as a single fraction in its simplest form as ITOICTR

For more help, please visit our website www.exampaperspractice.co.uk
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